Algebra 1 — 3" Edition — On-line Test 22 — July 2005

1. Are the equations y = 2x + 5 and y = 5x + 2 consistent, inconsistent, or dependant ?
[A] consistent [B] inconsistent [C] dependant

[D] Both A and C [E] None of these

2.Given f(x)=3x> —4x% + x —1, what is f(2) ?

[A] 0 [B] -16 [C] 43 [D] -1 [E] None of these

3. Find the domain of the function 7(x)=+x +10
[A] {x € Real Numbers |x >0} [B] { x & Real Numbers |x >10}

[C] {x & Real Numbers |[x <0} [D] { x € Real Numbers |x > —-10}

[E] None of these

4. Which ordered pair is the solution of the graphed 2
equations y = —2x +3 ana’y:gx—%? 3
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[A] (1, 1) [B] (-2,0) [C] (2,-1) IEEF <Ry EAZESRR
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[D] (-6,-6) [E] None of these d
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5. Rob and Charlie have 36 coins that are nickels and dimes. If the value of the coins 1s
$3.00, how many more dimes than nickels do they have ?

[A] 0 [B] 12 [C] -6 [D] -12 [E] None of these



6. Multiply and simplify: (45 ) (3\/6 )
[A] 126 [B] 14v2 [C] 7242 [D] 7418  [E] None of these

7. Which set of ordered pairs is a function ?
[A] (Oa 0): (0> 3) [B] (19 1)3 (17' 1) [C] (' 29'2)3 (- 23 2)
[D] (5,5),(-5,5) [E] None of these

8. Divide: (4y3+2y°-3y—-4) + y

[A] 4y% +2y -3 [B] (4y%+2y—-3)—4 [C] (—4y? -2y +3)+4
) 4
[D] 4y°+2y —-3—— [E] None of these
y

9. Simplify completely: (64 +16)

[A] 12 [B] 4420 [C] 45 [D] 32 [E] None of these

10. George has $3.60 in quarters and dimes. If he has 13 more quarters than dimes, how
many dimes does he have ?

[A] 3.5 [B] 7 [C] 15 [D] 1 [E] None of these

11. Find the range of the data in this stem-and-leaf plot.

Stem | Leaf
[A] 209 [B] 120 [C] 89 [D] 136 [E] None of these 12 15,2,3,0,0
13 Faaot |56 -2
12. What is the median in this stem-and-leaf plot ? [ o
18 |43
[A] 158 [B] 136 [C] 154 [D] 120 [E] None of these 19: 35 |35e0r 4
20 19,0




13.R,To=RyTs + 16, Ryc+Rg=1, T, =1, Tg=-6. Find R, and R
[A]R,=-2, Rg=3 [B]R,=-3,Rzg=2 [C] R,=2, Rg=-3

[D] Ro,=3, Rg=-2 [E] None of these
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14. Which diagram in the graph at right is not a function? / ) |
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[A]W [B] X [C]Y [D] Z [E] None of these \ T NV
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15. The product of 7 and a number 1s 12 greater than 5 times the number. What is the
number ?
[A] 1 [B] 16 [C] 35 [D] -8 [E] None of these
16. Divide:  ( 6x° —3x% —14x -8 ) = (x—-2)
[A] 6x% —3x—14——°_  [B] —6x%—9x——°_  [C] 6x% _15x 4410
X —2 X -2 X —2
[D] 6x% +9x +4 [E] None of these

17. Multiply and simplify: ~ 3v/6 (2@ +342 )

[A] 72 +183 [B] 306 +18/3 [C] 6134 +184/3

[D] 6134 +3+/8 [E] None of these



18. Solve by factoring: x*=x+20

[A] x=5,4 [B] x=20 [C] x = 45 [D] x=-4, -5 [E] None of these
19. Find three consecutive integers so that the sum of the first and third is 64.
[A] 1,3,5 [B] 2,3,32 [C] 31.5,32.5,33.5 [D] 31,32,33 [E] None of these

20. Solve by factoring: 12 =-7x - X

o —1=N97 74497

2 2

[B] x

74497 7497
2 )

2

[C] x=0, V12 [D] x=-3, -4 [E] None of these



